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QUESTION 1

Which best describes the relationship between user groups and task groups? 

A. User groups include task ID\\'s that are nested task groups. 

B. Groups can be nested within other groups. 

C. Tasks groups are not related to user groups. 

D. Task groups are assigned to user groups to established privileged levels. 

Correct Answer: D 

 

QUESTION 2









Which interface is the correct interface for the interface numbered as 11 in the correct network diagram? 

A. Fa0/1 



B. Fa0/2 

C. Fa0/21 

D. Fa0/23 

Correct Answer: C 

Correct network topology is Topology 2 

Use "show cdp neighbor" to check and determine the topology. 

 

QUESTION 3

Which command provides the highest level of detail about the system diagnostics on a Cisco XE router? 

A. show tech-support 

B. show registry 

C. show running-config 

D. show inventory 

Correct Answer: A 

 

QUESTION 4

Which two statements about NetFlow support on Cisco IOS XR are true? (Choose two.) 

A. Cisco IOS XR supports NetFlow version 9 export format only. 

B. NetFlow version 9 is a flexible and extensible means to carry NetFlow records from a network node to a collector. 

C. IP flow is based on a set of four parameters only (source IP address, destination IP address, source port, and
destination port). 

D. A NetFlow flow is the bidirectional sequence of packets on a single interface. 

Correct Answer: AB 

 

QUESTION 5

HOTSPOT 









Hot Area: 

Correct Answer: 

 

 

QUESTION 6

Which component is integrated into the Cisco IPoDWDM interfaces? 

A. ROADM 

B. transponder 

C. electrical cross connect 

D. E-O-E converter 

E. SONET/SDH controller 

Correct Answer: B 



 

QUESTION 7

You are designing a network in accordance with the hierarchical network design model. The distribution layer provides
which three functionalities? (Choose three.) 

A. workgroup segmentation 

B. high-speed switching 

C. connectivity to workstations 

D. policy-based connectivity 

E. WAN connection aggregation at the edge 

F. 802.1x security 

Correct Answer: ADE 

 

QUESTION 8

DRAG DROP 

Drag the PPPoE negotiation steps from the left and drop them in order on the right. 

Select and Place: 

Correct Answer:  



 

QUESTION 9

You are having problems browsing to http://www.cisco.com from your laptop that is running Windows. Your laptop is
connected directly to a default gateway, which is a Cisco ISR G2 router. Which four options are the basic
troubleshooting steps that you should use to troubleshoot this issue? (Choose four.) 

A. Issue the ipconfig command from the Windows command line on your laptop to determine your laptop IP address and
the default gateway IP address. 

B. Issue the ipconfig /all command from the Windows command line on your laptop to determine the DNS server IP
address. 

C. Issue the ping {default gateway IP address} command from the Windows command line on your laptop to verify
connectivity to the default gateway. 

D. Issue the ping {DNS server IP address} command from the Windows command line on your laptop to verify
connectivity to the DNS server. 

E. Issue the ping tcp www.cisco.com 80 command from the Windows command line on your laptop to verify TCP port 80
connectivity to the www.cisco.com server. 

F. From the ISR G2 CLI, issue the ping tcp www.cisco.com 80 command to verify TCP port 80 connectivity to the
www.cisco.com server. 

G. From the ISR G2 CLI, issue the ISR-G2#tracert www.cisco.com command to verify connectivity to the
www.cisco.com server. 

H. From the ISR G2 CLI, issue the ISR-G2#nslookup www.cisco.com command to determine the IP address of the
www.cisco.com server. 

Correct Answer: ABCD 

 

QUESTION 10

DRAG DROP 



Drag and drop the IPv6 addresses from the left onto the correct types on the right. 

Select and Place: 

Correct Answer: 

 

 

QUESTION 11

DRAG DROP 

Drag the IPv6 address type from the left and drop it on the matching description on the right. Not all IPv6 address types
are used. 

Select and Place: 



Correct Answer: 

 

 

QUESTION 12

Which statement about VRFs is true? 

A. One interface can be a member of multiple VRFs. 

B. Each VRF has its own routing table, but it has a shared FIB. 

C. Each VRF has its own routing table and its own FIB. 

D. Each VRF has its own routing table, and it does not have an FIB. 



Correct Answer: C 
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